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1. BEBROL
(1) #BHINE
HEARMEERLE 6,020 0 6,020
EAREFSUA 4,020 0 4,020
HEARHERLEIRA 2,000 0 2,000
ZHFTE 20,000 11,000 31,000
FTEIA 20,000 11,000 31,000
i 4R 4 0 4
HUEE 4 0 4
BRI 26,024 11,000 37,024
(2) BEEH 0
g 26,572 0 26,572
FEEBIRK 8,625 0 8,625
£ gl ulpd 2,300 0 2,300
TES} S BN RL 3,600 0 3,600
THAEEY 2,000 0 2,000
BIREEHEE 800 0 350
FEEEHE 9,247 0 9,247
% B Z RN 1,200 0 1,200
HBHFH 480 0 480
SHE 1,782 0 1,782
NEE 2,300 0 2,300
REXEE 600 0 600
W E 90 0 90
EHERARE 50 0 50
HERE 5 0 5
ENRI S A # 600 0 600
EE 1,400 0 1,400
EHERE 720 0 720
HE 20 0 20
ERE 0 10,305 10,305
1% 8 FIRE 1,200 1,200
BHEFS 1,920 1,920
£EE 198 198
REZEE 500 500
BB 90 90
REARE 50 50
HELE 5 5
HEEHE 30 30
R 8 & 600 600
Sk E 40 40
=N-f: 1,134 1,134
R 28 28
BHRAR 40 40
FHFEH 40 40
BeE 200 200
EHERHE 2,880 2,880
EHEEE 350 350
BE 1,000 1,000
BEEAT 26,572 10,305 36,877
L REISELE -548 695 147
. REMEBO
(1) RBFMNE
(L)
BRIt 0 0 0
(2) BENER
(BZ&il)
BEaERE 0 0 0
LEBEMEEE 0 0 0
L HA— AR ERRBA A I R AR -548 695 147
—RERMEREES 12,773 6,737 19,510
— R IFRMERERES 12,225 1432 19,657
I e E E kA E LS B DR 0
L AR B ER AR SR 28 0 0 0
REFRHEREES 401,000 0 401,000
EREGRMEREES 401,000 0 401,000
II EREERRES 413,225 7,432 420,657
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